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Instructions : (1) Mention correct number of question in answer book.
(2) Write short and precise answers of the questions.

(3) Figure on the right shows full marks of the question.
Answer any three questions from question number one to eight. (Section-I)

4)
(5) Question No. 9, (Section-II) is compulsory.

SECTION -1
(a) Why boiling point of solvent increases upon addition of nen-volatile solute in it ?

0.002 T2
Obtain equation K, = ] 7
v :
(b) When one gm AgNO, is added in 50 gm water, its freezing point cuange by
0.346 °C. If latent heat of freezing for water.is 80.0 Mol per gram, then calculate
molal elevation constant and molecular weight of AgNO,. 7

E

Write third law of Thermodynamics. How absolute value of entropy calculated

using third law of Thermodynamics ?
(b) Write note on Chemical potential. 7

-1

& - . {8)

(a) What is concentration cell ? Derive an equation for potential of a concentration
7

3.
cell without transference.
(b) Write note on ‘Decomposition voltage’. 7
4. (a) Calculate potential of the following cell at 25° C :

Pt|H, ., [HC/ | HC/ | H,, | Pt
latm (0.2M) (0.02M) latm
(Giveny, =87 v_=13) 7
(b) Caleulate potential of the following cell at 25° C :

(Zn in Hg) | Zn* ion containing solution | (Zn?* in Hg)

(1.0 x 102m) (1.0 x 104 m) -
P.T.O.
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5. (8) Explain (Zn — Cd) system using phase rule.
(b) Write note on condensed phase rule.

6. (a) Write note on ‘Reverse Osmosis’.
(b) How recovery of Cu, Ag and Fe can be done from Industrial waste water 7

7. (a) Write law of photochemistry and give reasons for high and low quantum yield.

(b) Write a note on photo-sensitized reactions.

8.  (a) Discuss differential aeration principle for corrosion.

(b) Electrolysis of molten NaC/ is carried out by passing 20 amp current for 5 min.
How much chlorine is obtained on Anode ? (1F = 96500 Coulomb)

SECTION -11I
9.  Answer in Short : (any eight)

(1)  Write Raoult’s law.

(11) When 40.0 gm NaOH is dissolved in 1 kg of water, what will be molality of
solution ? (Na =23 gm, O =16 gm, H = 100.gm)

(1ii) Give two examples of Qualitative property.

(iv) What is the value of AG for a systemin equilibrium ?

(v) Give one illustration of a gas electrode conc. cell.
(vi) Whatis Ed ?

(vi) Which is the sign of over voltage ?

(vii) What will be product on anode and cathode if electrolysis of aqueous solution of
dil. NaCl carried out by Pt-Electrode ?

(ix) What is Triple point ?
(x) Write unit of vapour pressure.
(xi) How many phase exists in H,0 system ?

(xi1)Ima mixture of two liquids, if total vapour pressure is 900 mm and one liquid has
vapour pressure 370 mm, then what will be vapour pressure of other liquid ?

(xii1) Which metals can be obtained from Industrial waste water ?
(xiv) Give name of one method for desalination of water.
(xv) What is one Einstein ?

(xvi) What is one Faraday ?
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5, (a) &Hostl AuMA MR Zn — Cd HQUEll AHwA, -
(b) AUeAd Befos [RUM UR Alm &l

6. (a) Wl 2NHRAX YR Ald @il ) 23 28 W A
(b) ~Aspu AP Wi Cu, Ag w1 Fedl Asall (et 1

Yol
’ 5[‘-2@“ oyRuUAl. 7

. HR2-AL
7. (a) MSIRLRAUAL R argual. 247 GIR{ dl Al2(l sell-eH &l o
(b)  Uslal AARA UBURA WR Al vl

7
8. (a) &Rell gzl e Rigld Y. o2 B2l
) oudial NaC/ - Red@eter- 20 S yeus 5 B2 up szaiell A
1 ARl 1O 7 (1F = 96500 €0l
Qe - 11 :

9. SR 15 AL 25HI BeiR AL :

(i) =AGeAl A3 @vil.d | |
(i R 40,0 AR NaOH A 1 kg H,0 (WEi)HL 2ABUAUHE @A Al erdl sl

Neieldl 32el ? (Na =23 gm, O = 16 gm, H =100 gm)

(iii) oreautcHs AR bRl & AR ML

(iv) dderti 28ell neuel Hie AG - Hed sed s §2

(V) Ay Higdl Sl A5 GE1s0L 240 \

(vi) Ed st geld 6 ?

(vii) AR dleay-{l AysiL 58 6 7
(viii) € NaC/1 ovelld %149l pt=ldeiand g1 Rgaldeior- s3di A48 244 Fels uR 2}

H(N ?

(ix) [A-[oig 2ed g 7¢
(x) OGUNEGIRLAL ASH &u{lT
(xi) el ueuellHiZec &5 2R U1 872

(xi1) o Uil ﬁ-l&@l’-ll ﬁ'lglEl'i 56 o'y €6URL 900 mm §. o Qi Al D el @i
GBECALSL 370 mm €14 ol ol Uil IMEGIR 32g

(xiii) SAUELLLS A3t g weizll 569 wigdl Anell 3151 o
(xiv) WRlHL [C-e1Rlus0L 1Al A8 yg (A AL 24090

(xv) A5 2T-R2U5 A2 3 ]
(xvi) A 30 Aed 4 7,
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